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Question Number : 1 Question Id : 7155053682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let A={xec B:[x+3]+|[x+4] =3},

3

Online
Mandatory
20

20

80

Yes

0

1
715505223
Yes

null

x-3
. e 5 e .
B=sxeR:3 [Z ] < 37" L, where [t] denotes greatest integer

vl L}
function. Then.
Options :
71550511721, A=18

71550511722, A=B. A#B

71550511723. B, A= B

71550511724, ANB=¢



Question Number : 1 Question Id : 7155053682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HTA={xe R:[x+3]+[x+4] <3}

B=lxeR:¥[ 32 “{33*}

r=1 l{];

&, ofgl [] Heud qUii® B g | a9
Options :

71550511721. A=8
71550511722, A=B. A#B

71550511723. B, A= B

71550511724, ANB=¢

Question Number : 2 Question Id : 7155053683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of all the roots of the equation |x* — 8x + 15 = 2x + 7 =0 is:

Options :

71550511725, 9-+/3

71550511726, 9+ 3

71550511727, 11++/3



71550511728. 11-+/3

Question Number : 2 Question Id : 7155053683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

W‘x" 8x +15|-2x+7 :{lﬁﬂﬁfﬂﬁﬁﬁlﬂ%:

Options :

71550511725. 9-+/3
71550511726. 9++/3
71550511727, 11++/3

71550511728. 11-+/3

Question Number : 3 Question Id : 7155053684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LetA=[ay]y , where a; = 0 forall 1, j and A% =1, Let a be the sum of all diagonal clements of A and b=/A|.
Then 3a® + 4b% is equal to

Options :

71550511729. 3
71550511730. 4

71550511731. 7



71550511732. 14

Question Number : 3 Question Id : 7155053684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT A= (a0 61 041, B U 2 0 TG A% =181 AT A D a0l o 948 ol T AT & 3R b
= A/ 31 T8 322+ b’ TR 5
Options :

71550511729. 3
71550511730. 4
71550511731. 7

71550511732. 14

Question Number : 4 Question Id : 7155053685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the system of equations
x+ty+taz=b

2 bRtz =6

£ A= 3

has infinitely many solutions, then 2a + 3b is equal to
Options :

71550511733. 20



J
Taa

71550511734.

[ o]
L

71550511735.

[ ]
[=2a]

71550511736.

Question Number : 4 Question Id : 7155053685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ofe g Hem

P IGdBa el d8 2a+3b GG & :
Options :

71550511733. 20

[
L]

71550511734.

[
L

71550511735.

[ ]
[=a]

71550511736.

Question Number : 5 Question Id : 7155053686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



If "C5 : "C; =10 : 1, then the ratio (n” + 3n) : (n” —3n + 4) is
Options :

71550511737. 27:11
71550511738. 35:16
71550511739. 2:1

71550511740. 65:37

Question Number : 5 Question Id : 7155053686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfg 75 :"Cy =10 : 15, T8 SUT (12 + 3n) : (n? — 3n + 4) B:
Options:

71550511737, 27:11
71550511738. 35:16
71550511739. 2:1

71550511740. 65:37

Question Number : 6 Question Id : 7155053687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ra

If the ratio of the fifth term from the beginning to the fifth term from the end in the
expansion of | 4 .

1Y
-/ R el
| 4
L 43

J6 1, then the third term from the beginning is:

Options :

71550511741, 6042
71550511742, 6043
71550511743, 3032

71550511744, 3043

Question Number : 6 Question Id : 7155053687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe (45, | " 3 R & ST 9 U1 Ua T i § 97 v @ S

1%’ aaéﬂwﬁfﬁwqa%‘

Options:
71550511741. 602

71550511742, 6073

71550511743, 3042

3043

s

71550511744.

Question Number : 7 Question Id : 7155053688 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The sum of the first 20 terms of the series 5 +11 +19+29+ 41 + ... 1s

Options :

71550511745. 3250

71550511746. 3450

71550511747. 3420

71550511748. 3520

Question Number : 7 Question Id : 7155053688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
JU 5+ 11+10+20+41+ ... & UYH 20 T3 HI1 AT &

Options :
71550511745, 3250
71550511746. 3450

71550511747. 3420

71550511748. 3520

Question Number : 8 Question Id : 7155053689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Let ay. a,, a3, ... . a, be n positive consecutive terms of an arithmetic progression.
If d > 0 1s 1ts common difference. then
g i
d ] ] ] .
llm VIE :—_I_ o ¥ |'_+ i g T +# 15
e e B M T V1 TGn
Options :

71550511749. 1

71550511750. 0

71550511751, Vd

1
71550511752. \fa

Question Number : 8 Question Id : 7155053689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
M a1, a2, a3, .. . ay GHIAR YUI & YHTET HANA n TS & | i AR d =0 6.
( \

. ld 1 | 1 -
T lim 5| o e e +—— | HIAAE:

no ' NG TG G T4 V91 TN |
Options :

71550511749. 1

71550511750. O

71550511751, Vd

1
71550511752. \fa



Question Number : 9 Question Id : 7155053690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dy
If 2x¥ + 3y * =20, then j_} at (2. 2) is equal to:
cx

Options :
[3 +log, 4]
71550511753, \ 21088

[3+igg[, m']
71550511754, . 4+10g.8

g Iug{ﬁ]
71550511755, \2+log.4

[ 2+log, 8]
71550511756, -5 Tlog.4

Question Number : 9 Question Id : 7155053690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. B _
WY +3y*=208,d9(2,2) R % B O &
(X

Options:

[3 +log, 4]
71550511753, \2+102.8



[3+ing:, m']
71550511754, \ 4+108.8

3+Iug€8}
71550511755, \2+log.4

[ 2+log, 8]
71550511756, -5 Tlog.4

Question Number : 10 Question Id : 7155053691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

k! 2
Tiet 5}'(,y}+4}'[l’J = 1 +3 x>0.Then 13_[ f(x) dx 1s equal to:

A X

1
Options :

71550511757, 3 loge 2—3

71550511758, 5 loge 2+ 3

71550511759, 10 log. 2 -6

71550511760, 10 log. 2+ 6

Question Number : 10 Question Id : 7155053691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
i i 0 T 2 o 2
AT 57/(x)+4f —J=—+3ﬁ,x-::-u 19 18 f(x)dx PTHAE:
X7 X ]

Options :

71550511757, 5 loge 2 =3
71550511758, 5 log. 2 +3
71550511759, 10 log. 2 =6

71550511760, 10 log. 2 +6

Question Number : 11 Question Id : 7155053692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

X SEC2 X+tanx

Let ;(_T) :I .x‘“( ) dv . If I(U) = (), then 1(4"—) is equal to

(xtanx+ 1)2
Options:

-

(n+d)’  x’

ﬂgi:'
71550511761. 32 4(x+4)

4

['JT+4]: n
+

log,
71550511762. 16 4(m+4)
[Jt—ﬂr}: e
log, — _
71550511763. 16 4m+4)

(m+4) x>
log, +
71550511764. 32 4(xn+4)




Question Number : 11 Question Id : 7155053692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 2
x“|xsec” x+tanx "
AT 7(x) = ( : )dﬁa‘“luﬁ,;[n}:u%ﬁaﬁf(;) HIAM &:
(rtanx+ 1)
Options:
(m+4y r?

Li:’
71550511761. 32 4m+4)

2. 4
71550511762. 6 4mn+4)

71550511763. 16 4(m+4)

s i
71550511764. 32 dm+4)

Question Number : 12 Question Id : 7155053693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The straight lines 1; and 1, pass through the origin and trisect the line segment of

the line L: 9x + 5y = 45 between the axes. If m; and m, are the slopes of the lines
1; and 1,, then the point of mntersection of the line y = (m; + m,)x with L lies on

Options :

71550511765, ¥ —2x =5



71550511766, 6x —y =15
71550511767. ¥ —X =3

71550511768, 6x Ty =10

Question Number : 12 Question Id : 7155053693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR @I 1, 9 1, Td fa7g Y BB Sl § 3R T@T L: 0x + 5y =45 D 3{&fl & dd
[ARGS B A1 sR1aR UFT H died! g1 afg ¥@radi1, a1, $1 Jauaid m, 9
m, %,ﬂﬁma}ﬁy={ml +m3}:{5ﬁ?LWﬂﬁwmqu¢%1’

Options :

71550511765, ¥ —2x =5
71550511766, 6x —y =15
71550511767. ¥ —X =35

71550511768, 6x Ty =10

Question Number : 13 Question Id : 7155053694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the equation of the plane passing through the line of interzection of the

planes 2x —y + z= 3, 4x — 3y + 5z + 9 = 0 and parallel to the line
'T_J:,] = -1'1_3 =:;: isax+by+cz+6=0,thena+ b+ c1s equal to

Options :



71550511769. 12
71550511770. 13
71550511771. 14

71550511772. 15

Question Number : 13 Question Id : 7155053694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gic THAEl 2x -y +2 =3, 4x — 3y + 5z + 9 = 0 Bl Uld=9g <@ Y BIDHR S arcd
qurEr =23 2222 & TR SHad B SR ax + by + ez + 6 =08,
dda+b+c TIE &

Options :

71550511769. 12

71550511770. 13

71550511771. 14

71550511772. 15

Question Number : 14 Question Id : 7155053695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Omne vertex of a rectangular parallelopiped 1s at the origin O and the lengths of its
edges along x, v and 7 axes are 3, 4 and 5 units respectively. Let P be the vertex
(3.4.5). Then the shortest distance between the diagonal OP and an edge parallel to
Z axis, not passing through O or P 1s:

Options :

12
71550511773. 3

Id

|
71550511774, 5v3

1

71550511775. 124/5

12

71550511776. /5

Question Number : 14 Question Id : 7155053695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U SAAIPR JHIGR Yehad o U YN Jd fdg 0 R T 3R v, y TUT 2 3f&fl &

3N 3HS (BRI (edges) B ISl HH: 3, 4 TYT 5 THTS o | AT 3IDI
Y p, {45 (3.4.5) W & | a fap Ul OP YT 2 318 P JHITR 9D TP (R, Gl O

qTP 4 B9 o olldl 8, & aId YAaH &3 o

Options :

12
71550511773. 5

Pl

|
71550511774, 5v3

1

71550511775, 124/5



12
71550511776. /5

Question Number : 15 Question Id : 7155053696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the position vectors of the points A, B, C and D be

Si+5]+24k, 1 +2j+3k,2i +4j+4k and—[+5j+6k .Lettheset S={leR:

the points A, B, C and D are coplanar}. Then Z (/1 2 2) 1s equal to
AES

Options :

71550511777. 13
71550511778. 25
71550511779. 41

37
71550511780. 2

Question Number : 15 Question Id : 7155053696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A1 feg3ff A, B, CID & UM AT 5745740404 i +2f+3k,2i+4j+4k @
i+5j+6k BlEIEEEA S = {1 e R: f§g A, B, C I D Fgeailu B}, 9

Z()L +2)° TR &

AES
Options :

71550511777. 13



71550511778. 25

71550511779. 41

37
71550511780. 2

Question Number : 16 Question Id : 7155053697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let G=2i+3j+4k b=i-2j—2k and ¢=—j+4j+3f .

If j is a vector perpendicular to both 7 and ¢, and a- d = 18, then |G x &|2 15

equal to
Options :

71550511781. 640
71550511782. 680
71550511783. 720

71550511784, 760

Question Number : 16 Question Id : 7155053697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HFT G=2i+3j+4k b=7-2]-2k T ¢=—i+4j+3k SUR TP FY
qfexi ; d¢ QI & TEAd 6 3R 4. =18 8. 09 | x d|2 PITHAE:

Options :

71550511781. 640

71550511782. 680

-1
k2
]

71550511783.

71550511784. 760

Question Number : 17 Question Id : 7155053698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The mean and variance of a set of 15 numbers are 12 and 14 respectively. The
mean and variance of another set of 15 numbers are 14 and 52 respectively. If the

variance of all the 30 numbers in the two sets is 13, then 57 is equal to
Options:

71550511785. 12

71550511786. 11

71550511787. 10

71550511788. @

Question Number : 17 Question Id : 7155053698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

15 G137 & 10 d YERUT pHT: 129 14 61 15 aﬁ?ﬂ@@ﬁ%ﬂmaw
HORN: 14T 52 B afc it 30 GAel HT IR 138, A o2 TER &

Options :

71550511785. 12
71550511786. 11
71550511787. 10

71550511788. 9

Question Number : 18 Question Id : 7155053699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A pair of dice 15 thrown 5 times. For each throw, a total of 5 is considered a success. If the probability of at

least 4 successes 15 7, then £ is equal to

Options :

71550511789. 75
71550511790. 82
71550511791. 123

71550511792. 164

Question Number : 18 Question Id : 7155053699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

31 U @1 5 IR Bep] 9Idl & aYl 8% §R W SBA13ff &1 317 5 81H1 U6 Thad]
k

A= ot 81 3fc 85 9 ©F 4 Thadrsl o wiliear T 5, T4 k S o

Options:

71550511789. 753
71550511790. 82
71550511791. 123

71550511792. 164

Question Number : 19 Question Id : 7155053700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the top A of a vertical wall AB of height 30 m, the angles of depression of
the top P and bottom Q of a vertical tower PQ are 15° and 60° respectively, B and
Q are on the same horizontal level. If C 1s a point on AB such that CB = PQ. then

the area (in m?) of the quadrilateral BCPQ is equal to

Options :

71550511793, 200(3-3)

71550511794, mﬂ(“ﬁ 1 1)

3
71550511795.

71550511796.



Question Number : 19 Question Id : 7155053700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 HieX St SeaieR SlaR AB & ARG A ¥ U SHaltR clal PQ & @i p @
YR Q & AT HIVHHT: 15°d60°81 BIQUD ol A dd W g1 4l
AB R U& 85 C SU VDR § [ CB = PQ &, a6 Il BCPQ P &A% (¥
e o) e &

Options :

200[3 = ﬁ]
71550511793.

600(+/3 =1
71550511794, {‘ )

300(v3 -1)

71550511795.

300(v/3 +1)
71550511796. - /

Question Number : 20 Question Id : 7155053701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Statement (P = Q) A (R = Q) 1s logically equivalent to

Options :

71550511797. P=R)A(Q=R)

71550511798, (PAR) = Q

71550511799. P=R)v(Q =R)



71550511800, (PVR) = Q

Question Number : 20 Question Id : 7155053701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUT (P = Q) A (R = Q) T aP TTd Je¥ PU &:

Options :

71550511797. P=R)A(Q=R)

71550511798, (PAR) = Q

71550511799, (P=R)v(Q=R)

71550511800, (PVR) = Q

Mathematics Section B

SectionId: 715505224
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 715505224
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155053702 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
LetA={1.2.3.4......10} and B= {0, 1, 2, 3. 4}. The number of clements in the
relation R = {(a, b) EA x A: 2(a—b)? + 3(a—b) € B} is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 7155053702 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFTA= {12.34,...... 10} 3R B = {0,1,2,3.4)¢ | =~
R={(a,b)EAxA:2(a—b+3(a-b)eB) T 3qgal H G &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 22 Question Id : 7155053703 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the point (p. p + 1) lic inside the region

E= {( X; _L-‘) 3-x< y<+9- ©,0gxs 3} . If the set of all values of p is the

interval (a, b), then b> + b—a” is equal to
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155053703 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O fag (p.p+ 1) &F I:'={{.r,y]:3—x£ v<y9-x* 0<x< 3} P 3 YT

213G p & Tl O &1 9= 3RId (a, b) T, T8 b2 +b—a’ ERIER §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155053704 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of ways of giving 20 distinet oranges to 3 children such that each
child gets at least one orange 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155053704 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 49 e’ &1 3 g T dicd & DI, difld UdP g ] HH I HH IS
IR o, St g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053705 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

15
- . ’ : l ;
The coefficient of x! in the expansion of [,1-;4 e T 15

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053705 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[,1-4__”]} F IR <18 BT B

X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155053706 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let a € Z and [t] be the greatest integer < t. Then the number of points, where the
function f(x) = [a + 13 =sin x]. x € (0, m) is not differentiable, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 25 Question Id : 7155053706 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
O ge7 & aYl [t] HeTH QUIT® <t §| a8 S fagsif, ot
f(x)=[a+13sinx], x €(0, z) SfGPG -6l &, DI LA §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155053707 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2

If the area of the region 5= {(x. ¥) : 2y —py" =x~ < 2y. x = v} 18 equal to
n+2 T '
T —" then the natural number n 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155053707 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



" n+2 T
gig &a s ={{x:j'):2_v—,r <x"L2y,x2 j-‘}ﬂ LT =
ntl n—=1

SRR ©, 96 WP AP T » SER §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155053708 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A circle passing through the point P, B) in the first quadrant touches the two
coordinate axes at the points A and B. The point P 1s above the line AB. The point
Q on the line segment AB is the foot of perpendicular from P on AB. If PQ is equal
to 11 units, then the value of of 1z

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155053708 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TYT YT T fdg P(o, ) ¥ IR OH a1l U o, e &l 3l fdgaii A
dUI B R WY Bl ¢ | f[ig P, W AB Y FW 5| [dg P Y AB R S[el U <id &I
TG RIS AB R fig QB 1 af§ PQ =11 3P &, T op FTAF

Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053709 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the tangent to the curve x° + 2x — 4y + 9 = 0 at the point P(1, 3) on it meet the
v-axis at A. Let the line passing through P and parallel to the line x — 3y = 6 meet

the parabola 17 = 4x at B. If B lies on the line 2x — 3y = 8, then (AB)? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053709 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFET G X2+ 2x— 4y + 9= 0 P fdg P, 3) R =T 3@ v eI DI g AR A 81
AP X S dTcil T x — 3y = 6 P GHITR 31, Waedy* = 4 Bl [§g B R
o g1 9 fdg B, @1 20— 3y = s R B, 1 (aB)Y &R g

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053710 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

: : . . : n
Let y=1(x) be a solution of the differential equation (xcos x)dy + (xysinx + yeos x - 1)dx =0, < x < of

s
2 v"tﬂﬂv’tﬁ]
6~ \6) " \6

Response Type : Numeric

|= J3 . then

|
s

T (x .
If == 15 equal to
37\ 3

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053710 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

AT 3{gdhd IR0 (xcosx) dy +(xysinx + ycosx—1)dx =0,0< x < % 67|

Tt [ e 8
_}.‘ S +2J e
()2 (3)

Y
B v =100 81 Tl %J[%JZ\F‘I G Cagsc

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 30 Question Id : 7155053711 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the image of the point P(1. 2, 3) in the plane 2x —y +z=9 be Q. If the
coordinates of the point R are (6, 10, 7). then the square of the area of the triangle
PQR 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155053711 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT 2x—y +z=9 A fag p(1, 2, 3) PIUfeE QeI TR fAgR &
fre=Iia (6, 10, 7) . 96 YT PQR & &% d &1 &Ff &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Physics Section A

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 7155053712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By what percentage will the transmission range of a TV tower be affected when

the height of the tower is increased by 21% ?
Options :

71550511811. 14%

71550511812. 10%

71550511813. 12%

71550511814. 15%

715505225
3

Online
Mandatory
20

20

80

Yes

0

1
715505225
Yes

null



Question Number : 31 Question Id : 7155053712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oId €laR DI $dTg 21% ¢TI &l O ol U <14 elar Pl YHIRUN WY ¥ Ufaerd
I gyTiad gim 2

Options:

71550511811. 14%
71550511812. 10%
71550511813. 12%

71550511814. 15%

Question Number : 32 Question Id : 7155053713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the logic gate equivalent to the diagram attached

I+5V

l l 1 LED

U\ : —g 1 = Glow

A W B .
éR

Options :

71550511815. NAND



71550511816. NOR

71550511817. AND

71550511818. OR

Question Number : 32 Question Id : 7155053713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

yeRid s & aqed dlfole TIE &1 -1 §:
r SV
i J 1 LED
.-_:.\" L —9 1 = Glow
A W B Y
2.
Options: |

71550511815. NAND

71550511816. NOR.

71550511817. AND

71550511818. OR



Question Number : 33 Question Id : 7155053714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A small ball of mass M and density p is dropped in a viscous liquid of density p,,.

After some time, the ball falls with a constant velocity. What 1s the viscous force
on the ball ?

Options:

F= Mg [1 - %]
71550511819.

P
F=Mg (1 fis ]
71550511820.

F= Mg [1 + ﬁ.]
71550511821. p'fl"‘

71550511822, E =Mg (1 =pp,)

Question Number : 33 Question Id : 7155053714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M oI TYT p U9 1 US BIc] 11g p, 9-cd & U RUH &a § Rl 81 $B
T4 UG, e TP (ad a1 9 - R 31 i )R 2aF a9 41 87

Options :
P
F=Mg |[1--2
o

71550511819.

71550511820.



F=Mg [ 1 + 12
oo

= P
F=Me |1+ —
*’{W}

71550511821. 0

71550511822, F = Mg (1=pp,)

Question Number : 34 Question Id : 7155053715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy levels of an hydrogen atom are shown below. The transition
corresponding to emission of shortest wavelength is

A B
n =4
C D
Y n=3
W \ n=>2
/ n=1
Options :

71550511823. A

71550511824. B

71550511825. C

71550511826. D



Question Number : 34 Question Id : 7155053715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U BIZSIol URHIY] & 3ol Wi $i A1 o H S=Ia1 7141 8 | AdH a7 e
& TId Iodoi Sh AT B:

A B
n=4
Y : - n=3
/ \ n =2
{ n=1
Options :

71550511823. A

71550511824. B

71550511825. C

71550511826. D

Question Number : 35 Question Id : 7155053716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The kinetic energy of an electron, u-particle and a proton are given as 4 K, 2 K and
K respectively. The de-Broglie wavelength associated with electron (1¢), u-particle
((Ao) and the proton (Ap) are as follows:

Options:

71550511827, Ao hp = ke



71550511828, Ao < hp < ke

71550511829, ~0.=Ap < ie

71550511830, Ao =1p = ke

Question Number : 35 Question Id : 7155053716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG SCIaC, o-PU1 UG TP I B1 ol GHoll AT 4K, 2K TG K §
SUACH, oDV qUT HIeT § Fraf2ia S1sell aeeed sl de, ho TUT ip T
TPR B:

Options :

71550511827, A& hp = ke

71550511828, A0 = hp < ie

71550511829, +0.=Ap < ie

71550511830, Ao =1Ap = ke

Question Number : 36 Question Id : 7155053717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A monochromatic light wave with wavelength 4, and frequency v, in air enters

another medium. If the angle of incidence and angle of refraction at the interface
are 45° and 30° respectively. then the wavelength 2, and frequency v, of the
refracted wave are:



Options :

El

71550511831, 42 =V 24, =

71550511832. V

A=A =—=
71550511833, J2

71550511834, 2 =%1» = \'E"l

Question Number : 36 Question Id : 7155053717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g ), ATee Ud v, Mg B U Udaui] YebT=T ae¥l ga< Hegd § yaw
Hd o1 Ife 3 TAg IR 39 BI0T 9YT AYdc B0 HHT: 45° T 30°
a9 Suafid a1 &1 aUlee 1, d SHaRi v, 8

Options :

ki

71550511831, 0 =V24,, 0, =Y

71550511832.

Ay =4, =—=V
71550511833. J2

71550511834, "2 =%» 1= \E"’L



Question Number : 37 Question Id : 7155053718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the plan electromagnetic wave given by E=E sin (ot - k) and B =B sin (at - k), the raio of average
clectric encroy density to average magnetic energy density i

Options :

71550511835. 1
71550511836. 2
71550511837. 4

71550511838. 1/2

Question Number : 37 Question Id : 7155053718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHAW degd 9a® g a1 & [AQ E = E_ sin (ot - kx) Td B = B, sin (ot - kx) B,

31 f4ggd Toll U-Tcd YT SHId R 1g Soll U 1 S0Td B:

Options :

71550511835. 1

71550511836. 2

71550511837. 4

71550511838. 1/2



Question Number : 38 Question Id : 7155053719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The induced emf can be produced in a coil by

A. moving the coil with uniform speed inside uniform magnetic field

B. moving the coil with non uniform speed inside uniform magnetic ficld
C. rotating the coil inside the uniform magnetic field

D. changing the area of the coil inside the uniform magnetic field

Choose the correct answer from the options given below:

Options :

71550511839, A and C only
71550511840, B and C only
71550511841, € and D only

71550511842, B and D only

Question Number : 38 Question Id : 7155053719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U PUsal § URd f[dggd aig® ad 34 a1 o Javdl 6:

A. T FOF 1Y &4 H HUscil DI THIHM I I Td gRI
B. UGYHH TG &4 H SUSH! &I U =1d 9 71fd gRI
C. UH YA e &4 1 $Usdl & Ui gRI

D. U9 TG &3 1 $UsSdl & &hd H uRdd gRI

2 Ry Rwed 3 3 ol SRR

Options :

71550511839, ad A dUT C



71550511840, dd B YT C

71550511841, &dd C AUT D

71550511842, dd B dUI D

Question Number : 39 Question Id : 7155053720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A particle is moving with constant speed in a circular path. When the particle turns

by an angle 90, the ratio of instantaneous velocity to its average velocity 1s

7 x+2 . The value of x will be -

Options :

-1

71550511843.

L

71550511844.

(o]

71550511845.

71550511846. 1

Question Number : 39 Question Id : 7155053720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U DU forddl TUIPR 9y TR F49d 91d G 71fd HX 381 8| 5fd D01 90° & BT
AT &, ol 59D &T0T@ a7 GUT S{Ed o7 BT U 7 /2 & x DTHAE BAT:

Options :




e |

71550511843.

L

71550511844.

[

71550511845.

71550511846. 1

Question Number : 40 Question Id : 7155053721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A long straight wire of circular cross-section (radius a) 1s carrying steady current [.
The current I 1s uniformly distributed across this cross-section. The magnetic field
s

Options :

uniform in the region r < a and inversely proportional to distance r from the axis,
71550511847, in the region > a

71550511848, z&ro in the region » < a and inversely proportional to » in the region v > a

directly proportional to  in the region » < a and inversely proportional to 7 in the
71550511849, regionr = a

inversely proportional to » in the region » < a and uniform throughout in the region
71550511850. r = a

Question Number : 40 Question Id : 7155053721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



PR I UR=SG (1) & Ue o el aR & vaned =S YR 181 YRT]
=Y YR UR=5G H UHHHF 34 § [dakd o | T &84 6:

Options :

21550511847, F < @ URER H UHTHA U4 > o YRER H 31&f I i » & Geh AU

iy

71550511848, 7 <@ IR A YA TG r > o IR H » & SSHHAFT!

21550511849, " < a URER » & AT T > ¢ TR H » & Geh AU

71550511850, * < @ IRER H r & P AT Td 7 > o YU TRIRH THYAM

Question Number : 41 Question Id : 7155053722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The resistivity (p) of semiconductor varies with temperature. Which of the
following curve represents the correct behaviour

Options :
+ A
P

71550511851. L=
P

71550511852. T



W

71550511853. &

W

71550511854. i}

Question Number : 41 Question Id : 7155053722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I, AP Bl UCRIYST (p) 9 & T1Y gead! ¢ | FH H I $H 1% Jal
d8R Walkid Hdl o:

Options :

W

71550511851. Ley

71550511852,



W

71550511853. &

W

71550511854. i )

Question Number : 42 Question Id : 7155053723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a uniformly charged thin spherical shell, the electric potential (V) radially
away from the centre (O) of shell can be graphically represented as -

Options :



71550511855. r==R r
VA
I
I
I
I
I
: ~
71550511856. r=R r
vV A
I
I
I
I
‘ -
71550511857. r=R r
U
|
|
|
|
|
| r=A Y
71550511858. *'

Question Number : 42 Question Id : 7155053723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UHTHAM SAIRId T gad Mg HI- & [0, DI & &5 (0) J BT o
g@wﬁﬁ%%m@')ﬁﬁawmmﬁﬁ%mww

A
Options:
VA |
|
I
I
I
I
I
| >
71550511855. r=R r
V A
I
I
I
|
I
' >
71550511856. r=R r
VvV A
I
|
I
I
' -
71550511857. r=R r
¥V h
|
I
I
I
I
| r=~H Y,

71550511858.

-~



Question Number : 43 Question Id : 7155053724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A mass m 1s attached to two strings as shown in figure. The spring constants of
two springs are K, and K. For the frictionless surface, the time period of
oscillation of mass m 1s

m

A K_‘l_ 7 I':"-l b
/] b
—— —
Options :
II i
s
|T -
71550511850, V1t Ko
II i
s
| . i v
71550511860. VEI-K
1 IIK.1+K_2

I—
71550511861, 27\ m

1 [K-K
|
71550511862. 27\ m

Question Number : 43 Question Id : 7155053724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TefRid fod 8 U GoudH m &l (ST 9§ ST 5| a1 18 & & Fadie K, @
K, © | 98U (Ed Hde & 01U, 00 m & aleH &1 HadaTd o:

m
4 82 77, O
—T0— 00—,
Options :

S

| i

|
| K r
71550511859, V1t Ko

—_
| i

v I|
71550511860. \"

1 IIK1+K2
2 |I
71550511861, 27\ m

1 [Ki-Kp
|
71550511862. 27\ m

Question Number : 44 Question Id : 7155053725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A source supplies heat to a system at the rate of 1000 W. If the system performs
work at a rate of 200 W. The rate at which internal energy of the system increases
e

Options:
71550511863. 500 W

71550511864. 600 W

71550511865. 1200 W



71550511866. 800 W

Question Number : 44 Question Id : 7155053725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U% 9id 1000 W S &2 I U e1d &1 S WS &dl ol afe e 200 w
B R Y P HIA1 ¢ | 98 X, ol R o o1 3male ol agdi &

Options:

71550511863. 500 W

71550511864. 600 W

71550511865. 1200 W

71550511866. 800 W

Question Number : 45 Question Id : 7155053726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of air molecules per cm” increased from 3 x 10'% to 12 = 1017, The
ratio of collision frequency of air molecules before and after the increase in
number respectively 1s :

Options :

71550511867. 0.25

71550511868. 0.50



71550511869. 0.75

71550511870. 1.25

Question Number : 45 Question Id : 7155053726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yfc g I, AR LS I Hw=AT 3 x 1012 F 12 ¢ 101° TP F¢ ol g1 A
UL 1 T H gis & yd Ud 91 H huT: §UT JH1gld BT ST &

Options:

71550511867. 0.25

71550511868. 0.50

71550511869. 0.75

71550511870. 1.25

Question Number : 46 Question Id : 7155053727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two resistances are givenas Ry =(10 = 0.5) Q and R, = (15 = 0.5) Q. The

percentage error in the measurement of equivalent resistance when they are
connected in parallel 1s -

Options :

71550511871. 4.33

71550511872. 6.33



71550511873. 2.33

71550511874. 5.33

Question Number : 46 Question Id : 7155053727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S HIRIY ST PR GG T B R, =(10=0.5) QUA R, = (15 =0.5) Q| Td Tg
R it B 9S8 99 ged Wiokiy & A9 B ufawa 7 §:

Options :

71550511871. 4.33
71550511872. 6.33
71550511873. 2.33

71550511874. 5.33

Question Number : 47 Question Id : 7155053728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : When a body 1s projected at an angle 45, it's range 1s maximum.
Reason R : For maximum range. the value of sin 26 should be equal to one.

In the light of the above statements. choose the correct answer from the options
given below:

Options :



71550511875, Both A and R are correct and R is the correct explanation of A

71550511876, Both A and R are correct but R is NOT the correct explanation of A

71550511877. A 1is true but R 1s false

71550511878. A is falze but R 15 true

Question Number : 47 Question Id : 7155053728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?mﬁﬁnﬂ%wﬁ#‘wmmwg@ﬁwn@ﬁﬁﬂm
g

fUSHYT A : 776 TS U8 &1 45° & S0 R U&fd foogr T1d1 8, 9P IR
fHAT B

PRUIR : AIHTH WY & (AU, sin 26 BT HH UP P a& ol 1 dlieU|
SR HY & HaH H 14 fad T faped & 4 |8t IR AT

Options :

71550511875. AG R &M Uol & IR R. A @ 9| ORAT ©

71550511876, A @ R &I g1 € IR R, A B Ul oIRAT 61 §

71550511877, A F61 § TR eI 761 §

71550511878, A el el ¢ g R IGT §



Question Number : 48 Question Id : 7155053729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A small block of mass 100 g 1s tied to a spring of spring constant 7.5 N'm and length 20 ¢, The other end of
sprng 18 fixed at a particular point A, If the block moves 1n a eircular path on a smooth horizontal surface with
constant angular velocity § rad's about point A, then tension n the spring 15 -

Options :

71550511879. 0.25 N
71550511880. 0.50 N
71550511881. 0.75 N

71550511882. 1.5 N

Question Number : 48 Question Id : 7155053729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 g GOIHM & U BIc 7[C Bl 20 cm T UG 7.5 N/m (I Fadie & U
T & afer a7 8 | F8R1 &1 go”1 RR1 Ue (3d fag A T S[e1 81 afe e
fag A P 9ikd: 5 rad/s fFad P0G 918 U@ FRIDA dd W UD GUIBR
el T 71T PRl ¢ (i 4 19 &:

Options :

71550511879. 0.25 N

71550511880. 0.50 N

71550511881. 0.75 N

71550511882. 1.5 N



Question Number : 49 Question Id : 7155053730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one 15 labelled as Assertion A and the other i3
labelled as Reason R.

Assertion A : Earth has atmosphere whereas moon doesn't have any atmosphere.

Reason R : The escape velocity on moon is very small as compared to that on
earth.

In the light of the above statements, choose the correct answer from the options
given below:

Options :

71550511883, Both A and R are correct and R 1s the correct explanation of A

71550511884, Both A and R are correct but R 1s NOT the correct explanation of A

71550511885. A is true but R 1z false

71550511886. A is false but R 1s true

Question Number : 49 Question Id : 7155053730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ﬁﬂgfﬁmﬁﬁmﬁ:wﬁmgwgﬁ%ﬁwnﬁﬁﬁaw
TR

UBY A : 24! BT AGHUST ¢ GIaih I-5H Pl Blg AgHIS 7ol o |

HRUIR : J2d D1 qo-1 & 58] R Ua1e &1 9gd $H oidl g
IWRIGd Pl b Heu H, 14 68 T faeedl # J 98t 3R U

Options :

71550511883, AT R &I Uol & 3R R, A P Ug! AT ©

71550511884, AT R &1 W61 € TR R, A B Ul U6l ©

71550511885, A el & QR Tl Tel ©

71550511886, A el 161 ¢ R ITT ©

Question Number : 50 Question Id : 7155053731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A planet has double the mass of the earth. Its average density is equal to that of the
earth. An object weighing W on earth will weigh on that planet:

Options:

71550511887. W

71550511888. 2 W
71550511889, 22° W

71550511890. 21° W



Question Number : 50 Question Id : 7155053731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS U8 1 5o Yl & gogl U &1 TH1 € | §HP1 3HI¥d U Yl & ucd
& SRI6R 5 | U a%d BT Jed] IR HIUT T4 YR W § ol 39 U8 TR YR §HTI:

Options:

71550511887. W

71550511888. 2 W

71550511889, 223 W

71550511890. 213 W

Physics Section B

SectionId: 715505226
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1

Sub-Section Id : 715505226



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 7155053732 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A person driving car at a constant speed of 15 m/s 1s approaching a vertical wall.
The person notices a change of 40 Hz in the frequency of his car's horn upon
reflection from the wall. The frequency of horn 1s Hz.

(Given: Speed of sound : 330 m/s)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155053732 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U Aad15 m/s DI U HUd 91d I DR Fald gU U I@ER AR Di 3R
UgdEl ¢ | B4 o @ & IR 9 WIadH gi- U, ofad PR & oi- Bl gl
T 40 Hz 1 URGI U BT g | 81 DI 3R Hz g

m%_. &g 1 91d : 330 m's)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 52 Question Id : 7155053733 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A pole 1s vertically submerged in swimming pool. such that it gives a length of
shadow 2.15 m within water when sunlight is incident at an angle of 30° with the
surface of water. If swimming pool 1s filled to a height of 1.5 m, then the height of
the pole above the water surface in centimeters 1s (n,, = 4/3)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155053733 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U ST R ya ¥ S 41era: 58 UOR @Sl & o 98 Ul & 3G 2.15m
T BT Gl © oid g 1 B0l gl 1 Fdg o WY 30° B BV R Al
gidl & | afe RafthT gd 1.5 m 1 $Ha1g dd HR1 531 61, a1 UHi DI I8 & W
T BT S (GEH) T (n,=4/3) |

Response Type : Numeric

Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155053734 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The radius of fifth orbit of the Li™ " 1s x 10712 m,
Take: radius of hydrogen atom = 0.51 A

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155053734 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Li™ @1 Uladl da ot B x102m3g
( BISSIo U] &l ST =0.51 A o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053735 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An ideal transformer with purely resistive load operates at 12 kV on the primary

side. It supplies electrical energy to a number of nearby houses at 120 V. The

average rate of energy consumption in the houses served by the transformer is 60

kW. The value of resistive load (Rs) required in the secondary circuit will be
m&2.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053735 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TP 3M1EY B UTufHd 158 W 12 kv R Y& URIYS TS & 9y o
PRATE | T8 120 VIR g (Hebeqd! wR1 ol f[dggd ol HaH ol §1 SwHR
ERTERI 1 715 Sol @Ud 3t 319d &3 60 kw B | fgdig uftay & savas
YicRIe® @IS (R,) DT UM mQ §HT|

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155053736 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The length of a metallic wire is inereased by 20% and its area of cross section is
reduced by 4%. The percentage change in resistance of the metallic wire 1s

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155053736 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e YT IR B Tz 20% T6T1 41 9l g SR 5P U gR=sq &1
EFHT 4% Hel g1 ol 21 9ifd® ar & ufoty 8 ufawd gfvada
gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053737 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor with plate area A and plate separation d is filled with a
dielectric material of dielectric constant K = 4. The thickness of the dielectric
material 1s x, where x < d.

. Plate - |

d Dielectric

Plate - 2

, x 1
Let Cq and C; be the capacitance of the system for X =—¢ and X = == _.

i
= )

respectively. If C; = 2uF the value of C; 15 uF



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053737 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

QI §ABT A TUI Ticl & §1d Bl g1 d & Uh TR W GUIRA DI K =4
WRIAYdi% & TRIAGYd Uard 9 1R 301 771 § | Wiaggd Uer &1 Hier « &,
GIETJ:'id,

. Platc - |

d Dielectric

Plate - 2

IFHT.,T:—LQ’ quT X =%r ¥ fou et aRai saw. c,dc, sl afe ¢, =
24F. C, o uF R

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155053738 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two identical circular wires of radius 20 ¢m and carrying current, /7 A are placed
in perpendicular planes as shown in figure. The net magnetic field at the centre of

the circular wires 1s % 1075 T,

-

I

(Take m=3.14)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155053738 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



20 em 591 & B UHHHH JUIBR dRI & FATER TEad dal § 3@l g 3R
g8 Talfed URT /7 AR | THIPR ARl & B R P JEH Y &7 .

108 T &I

-

I

(g, n=3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155053739 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A steel rod has a radius of 20 mm and a length of 2.0 m. A force of 62.8 kN

stretches it along its length. Young's modulus of steel is 2.0 x 10! N-'mz_ The

longitudinal strain produced in the wire 1s x 107>
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 58 Question Id : 7155053739 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U5 T B8 DI H91 20 mm U4 TS 2.0 m & 62.8 kKN BT G 5 aH g &
ST Wierdl & | T BT 7 Wl U7 2.0 % 101! Nim? §1 AR & S

3¢ fapla x 107 B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053740 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle of mass 10 g moves 1n a straight line with retardation 2x, where x 1s the
displacement in SI units. Its loss of kinetic energy for above displacement is

[EJ I. The value of n will be

X
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053740 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
10 ¢ ZOTHF &1 U HU1 2x Hed & 1Y TP IR 3@1 H 1A Bl 6, olel x, SI

aFs | fowur— 8| Sad fawimg= & o sga! nfas Ful g™ {EJ_”I%I n

ARG Sull

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053741 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two identical solid spheres each of mass 2 kg and radii 10 em are fixed at the ends
of a light rod. The separation between the centres of the spheres is 40 ecm. The
moment of inertia of the system about an axis perpendicular to the rod passing

through its middle point 1s < 107> kg-m?
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053741 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



2 kg SOHMA TUT 10 em 501 & & Udh JHA 319 7idll & U 5ed| B b
[-RI IR SIS a1 T § 1 7M1l & dexl & &g B g3l 40 cm § | TS & aFdd
3Hef, il b &5 & ged fag I ToRdl ¢, & URd: Hor &1 S8d 7o

x 107 kg-m? gl
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 715505227
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505227
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 7155053742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A compound is formed by two elements X and Y. The element Y forms cubic close
packed arrangement and those of element X occupy one third of the tetrahedral
voids. What 1s the formula of the compound ?

Options :

71550511901, XY 3
71550511902, %3Y
71550511903, %2Y3

71550511904, X3Y2

Question Number : 61 Question Id : 7155053742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U gifie &l ddl X R Y9 §41 51 dd Y 914 [Hids YPpaH a1l § 3R ad
X WP Ridadl BT e figTs &1 URdl § | U1 31 9 1 82

Options:
71550511901, <Y 3
71550511902, %3 Y

71550511903, X2Y3

71550511904, X3 Y2



Question Number : 62 Question Id : 7155053743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a concentrated solution of a weak electrolyte (Keq= equilibrium constant) A,B; of concentration ‘c’, the

degree of dissociation ‘o’ is
Options :

5
i

| 6c’

71550511905.

( = Jg
A
71550511906, \ 1 08¢

K s

(L]

5¢°

71550511907.

{ K, ]-‘
71550511908, \ 22€

Question Number : 62 Question Id : 7155053743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fop el T A5 SMTUCH (K., = TR FRRIE) A,B,, oDt Al e’ §, & WI; fAeieet & ford o
CIRPIRA

Options:

71550511905.



eif

| 6c”

A
71550511906, \ 1 V8¢

KL‘{; i

4

71550511907 \ O
|
Km; ﬁ

71550511908, \ 22€

Question Number : 63 Question Id : 7155053744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI- LISTII -

Enzymatic reaction Enzyme
Sucrose — Glucose and Fructose | I [Zymase
Glucose — ethyl alcohol and CO4| I1. [Pepsin

Starch — Maltose III. Invertase
Proteins — Amino acids IV, [Diastase

o|o|w|w

Choose the correct answer from the options given below:
Options:

71550511909, A-L B-II. C-IV., D-III

71550511910, A-IIL B-I. C-IV. D-II



71550511911, A-IIL, B-L. C-II, D-IV

71550511912, A-L B-IV. C-III, D-II

Question Number : 63 Question Id : 7155053744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Yl 1961 11 H gHferd &1
- 11 -
T d ATuipar T

A P19 — @Y AR Hacy 1 [amag
B. [q@— Ui¥d Uedbigid CO, II. [uftem
C. [Fr— Aleeig 111 Faeq
D. [0 — HH] H&d V. [Sacd
i &g 7 fameul § 9 Hel 3T &l I+
Options :

71550511909, A-L B-II. C-IV, D-III

71550511910, A-IIL B-I. C-IV, D-II

71550511911, A-IIL B-I, C-II, D-IV

71550511912, A-L. B-IV, C-III. D-II

Question Number : 64 Question Id : 7155053745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The difference between electron gain enthalpies will be maximum between:
Options :

71550511913. Ne and F
71550511914, Ne and Cl
71550511915, Arand F

71550511916. Ar and Cl]

Question Number : 64 Question Id : 7155053745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Sade difsd T &1 3R Afdad g -

Options :

71550511913. Ne IRF B A o

71550511914, Ne SR Ccl B &g &

71550511915, Ar AR F # ad H

71550511916, Ar AR Cl B aG H

Question Number : 65 Question Id : 7155053746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following options are correct for the reaction
2 [Au (CN);I(aq) + Zn (s) = 2 Au () + [Zn (CN)4]1* (ag)

A. Redox reaction

B. Displacement reaction
C. Decomposition reaction
D. Combination reaction

Choose the correct answer from the options given below:

Options :

71550511917, A and B only

71550511918, A only

71550511919, € and D only

71550511920, A and D only

Question Number : 65 Question Id : 7155053746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

dt 713 3if¥fchar & fordl &I 11 faehed Hel 8
2 [Au (CN)3T(a) + Za (8) = 2 Au (8) + [Zn (CN)4P~(aa)

A, HT=Egg9Y i
B. f[a®urg= aiftyfean
C. 3ggeAr Afyfhar
D. MTHF b

12 ol T et B QO SR -

Options:

71550511917, Had A R B




71550511918, Hdd A

71550511919, Ba@ C 3R D

71550511920, ad A 3R D

Question Number : 66 Question Id : 7155053747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.

' . e | .
Assertion A : Loss of electron from hydrogen atom results in nucleus of ~1.5 % 107 pm size,

Reason R : Proton (H") always exists in combined form.
In the light of the above statements, choose the most appropriate answer from the options given below:

Options :

71550511921, Both A and R are correct and R 1s the correct explanation of A

71550511922, Both A and R are correct but R 1s NOT the correct explanation of A

71550511923. A is correct but R 1s not correct

71550511924. A is not correct but R 1s correct

Question Number : 66 Question Id : 7155053747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one 1s labelled as Assertion A and the other 1s labelled as Reason R.

SHTHPYT A : BISGIOH TRA] V ZeIaeH P PTG ~1.5 x 107 pm HHR $ 5 6l o1l 6|
PRUIR : WM (H) g1 994 30 5 &l 2
SWIad B & Feul § i 140 T fadedi 4 9y Sfd SR B :

Options :

71550511921, A AR R & A & 3R R, A P! Ja! AR B

71550511922, A IR R &1 U © 3R R, A P! T o Tel o

71550511923, A T R R 3T G|

71550511924, A ST RGR AT

Question Number : 67 Question Id : 7155053748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The standard electrode potential of M™/ M 1n aqueous solution does not depend on
Options:

71550511925. Sublimation of a solid metal

71550511926, lonisation of a gaseous metal atom

71550511927. Ionisation of a solid metal atom

71550511928, Hydration of a gaseous metal 1on

Question Number : 67 Question Id : 7155053748 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A 30994 faya M~/ M 9 & 39=m &Fal &1 ATT 8l & MHR ol &l o

Options :

71550511925, Jeaurd- ol

71550511926, HTI-THI0] Huoll

71550511927, ST ot Y I

71550511928, © SR E{iaﬁfl

Question Number : 68 Question Id

: 7155053749 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The setting time of Cement 1s increased by adding

Options:

71550511929. Limestone

71550511930, Clay

71550511931, Gypsum

71550511932, Silica

Question Number : 68 Question Id

: 7155053749 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o< & o4 & 900 &l 9el off 95 dl o STADHT
Options :

71550511929, &1l &R

71550511930. | é

71550511931, folegH

71550511932, f&fer®

Question Number : 69 Question Id : 7155053750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Oxide Type of bond
A N2Oy I. 1 N=0 bond
B. [NO; II. 1 N—0O-N bond
C. [N>O5 III. |1 N — N bond
D. [N2O IV. |1 N=N /N =N bond]

Choose the correct answer from the options given below:
Options:

71550511933, A-IIL B-I. C-IV, D-II

71550511934, A-IL B-L. C-II, D-IV



71550511935, A-IL. B-IV, C-III, D-I

71550511936, A-IL B-I, C-III, D-IV

Question Number : 69 Question Id : 7155053750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 i 11 GHferd B

T 1 el 11
ATATSS Y FTUPR

A [N,O4 L {1 N=0 &Y

B. [NO; I I N-OQO-N &Y
C. [N>O5 L |1 N - N &Y

D. [N;O IV. |t N=N /N =N H6Y
$2 R T e § ¥ vd s =
Options:

71550511933, A-IIL B-I. C-IV, D-II

71550511934, A-IL B-L. C-II, D-IV

71550511935, A-IL. B-IV, C-III, D-I

71550511936, A-IL B-I. C-III, D-IV

Question Number : 70 Question Id : 7155053751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Strong reducing and oxidizing agents among the following, respectively. are



Options :

71550511937. Ce*™ and Eu?™

71550511938, Eu’™ and Ce™™

71550511939, Ce” ™ and Ce*™

71550511940, Ce*™ and Th*™

Question Number : 70 Question Id : 7155053751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafREd o oRr. 4ad SiUa® SR JaHBRS ¢

Options :

71550511937, Ce*™ 31X Eu?~

71550511938, Eu’™ 3 Cet™

71550511939, Ce?™ 3R Ce*™

71550511940, Ce*™ 31X Tb*™

Question Number : 71 Question Id : 7155053752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The possibility of photochemical smog formation is more at



Options :

71550511941, The places with healthy vegetation

71550511942, Industrial areas

71550511943, Himalayan villages in winter

71550511944, Marshy lands

Question Number : 71 Question Id : 7155053752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FBTIRYTG Y8 &1 JEITGT AU ad ldl 6:

Options:

71550511941, Ui GTefd dTet ST8I UX

71550511942, ATENE 831 &

71550511943, &Y H fedTerd! mai #

71550511944, GoTGe HH W

Question Number : 72 Question Id : 7155053753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A: The spin only magnetic moment value for [FE(CNjﬁ]E’_ 15 1.74 BM,
whereas for [FE(HED),&]E_ 1s 5.92 BM.

Reason R : In both complexes. Fe is present in +3 oxidation state.

In the light of the above statements. choose the correct answer from the options
given below:

Options :

71550511945, Both A and R are true and R is the correct explanation of A
71550511946, Both A and R are true but R 1s NOT the correct explanation of A

71550511947, A is true but R is false

71550511948, A is false but R 1s true

Question Number : 72 Question Id : 7155053753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

HTUBYT A: [Fe(CN)*~ & Hdd HashUl gah g 310 ST T 1.74 BM ©
Sl [Fe(H,0)s]° ™ 5.92 BM &

BRUIR : A IHal T SR +3 AP0 A H 5|
SRIFId B & F5 T e &8 T fded] ¥ 9819 SR P11

Options:

21550511945, A AR R T A & IR R, A B! Tel ARAT ©

71550511946, A SR R &H1 9@ § SR R, A | ! oA -Tol §



71550511947, A U TR R 3T ©

71550511948, A ST RJRIT

Question Number : 73 Question Id : 7155053754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HCLA . —> Residue Q
Compound P ———> Filter —
(MF. C,4H;;0N) — FﬂtT{lt: N
M.F = MOLECULAR FORMULA \L D
Oily Liquid R.

Compound P s neutral, Q gives effervescence with NaHCO; while R reacts with Hinsbergs reagent to give
solid soluble in NaOH. Compound P is

Options :

0

ORAY;
71550511949, ~ ity

71550511951. CHy

a0
o Ho A 2
71550511952, 1« '



Question Number : 73 Question Id : 7155053754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i p
: HCLA _ . —> Residue Q
Compound P ———> Filter —
(M. C,,H,;0N) ——> Filtrate
M.F = MOLECULAR FORMULA \L NaOH
Oily Liquid R.

e P TR &, Q NaHCO; & H1Y Wgqga &l & Waioh R fa-aar] sffierier 8 it o |
NaOH YRl 314 &al | T P &:

Options :

0

OAY,
71550511949, ey

:;"- |,,/JHTf]7T_{“I
71550511950. kv S

S

i I

;fj-— .a:’H“'“ E—HN—H

CT&rei
)

71550511951.

0

E:)L\“—N—./’
g 1 | !ll :H'\H
71550511952, 1«

Question Number : 74 Question Id : 7155053755 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Element detected |Reagent used / Product formed)
A [Nitrogen I -‘;\’aj [Fe(CN)s NO]
B. [Sulphur 1. JAgNO;
C. [Phosphorous | III. [Fey[Fe (CN)g]3
D. [Halogen IV. [[NHy); MoOy

Choose the correct answer from the options given below:
Options:
71550511953, A-IL B-I, C-IV, D-III

71550511954, A-IIL B-I, C-IV, D-II

71550511955, A-IL B-IV, C-I. D-III

71550511956, A-IV, B-II, C-I. D-III

Question Number : 74 Question Id : 7155053755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
al- 1 1 Gai- 11 F gHferd Hi|

1 = 11
T ded ugaﬁerﬁm U IS

A HigeleH a;[Fe(CN)s NOJ
B. b II. Ag}:cn3

C. [PIEpRY TI1. [Fes[Fe (CN)gl
D. [gciia V. |[NH,); MoOy

A fordl T Faretli 7 QO SR



Options :

71550511953, A-IL B-I. C-IV. D-III

71550511954, A-IIL B-1. C-IV, D-II

71550511955, A-IL, B-IV. C-I. D-III

71550511956, A-IV. B-1I. C-I. D-III

Question Number : 75 Question Id : 7155053756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the reaction
Acetone
RCH,Br + ' — > RCH)I + Br
major
The correct statement 1s

Options :

71550511957. The reaction can occur in acetic acid also.

71550511958, Br can act as competing nucleophile.

71550511959, The solvent used in the reaction solvates the 1ons formed in rate determining step.

The transition state formed in the above reaction is less polar than the localised
71550511960. aniomn.

Question Number : 75 Question Id : 7155053756 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&2 ftifora & o
Acetone
RCH,Br + I” > RCH,)l + Br~
major
I HYT &
Options :

71550511957, Urlc® 3wt & 4T 3fifchar 81 9obd &

71550511958, Br TP AIHGHe! &1 aie B $ THdl ol

fiyfepar 5 guan fear mar faamae an Fuio o 8 59 omgHi &f f[agifas
71550511959, PR &l 6

SR &l T3 ST H -1 HohHur Sfawl IR BUTEH! I &F ydiy sidl

71550511960, B!

Question Number : 76 Question Id : 7155053757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The major product formed in the following reaction is

CONH, B,/ NaOH
_—

-

A
COOCH;

Options :
NH

71550511961. O



@]
71550511962. O
O
NH
71550511963. O
O
71550511964. O

Question Number : 76 Question Id : 7155053757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

71 aiftforan © &1 U@ ST 6
CONH, Br, / NaOl1
'—::_,.
COOCH, :
Options:
NH
71550511961, O

71550511962.



@)
O
O
NH
71550511963. O
O
71550511964. O

Question Number : 77 Question Id : 7155053758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Name of reaction Reagent used
A. Hell-Volhard-Zelinsky reaction | I. [WaOH +I;
B. [lodoform reaction I1. |(1) CrO,Cly , C5; (u) H;0O
: (1) Bry / red phosphorus
C. |Etard reaction IT1. (i) HL0
D. |Gatterman-Koch reaction IV. |CO, HCIL, anhyd. AlCl;

Choose the correct answer from the options given below:
Options :

71550511965, A-1. B-II, C-III, D-IV

71550511966, A-IIL B-II, C-1, D-IV



71550511967, A-IIL, B-I. C-II, D-IV

71550511968, A-IIL B-I. C-IV, D-II

Question Number : 77 Question Id : 7155053758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gl 1901 11 9§ gH el &
1 TR I
SfHfspar &1 99 Iuan foran mn sifiede
A. [gaaras sifcigem! sifyfgea| 1L [NaOH + 1
B. [smarsie sififea 1. [1) CrO,Cl; . C8; (1) H,O
C. [gers sfufear 111 ki) Br, / @l BIRGRY (ii) H,0|
D. fTre3AM-®Re Affyfsear | IV, [CO. HCL anhyd. AICI;
- o 1 fddedl 3§ 9ol SR &l I
Options :

71550511965, A-L B-IL. C-III, D-IV

71550511966, A-IIL B-II. C-I, D-IV

71550511967, A-IIL B-L. C-II, D-IV

71550511968, A-IIL. B-I. C-IV. D-II

Question Number : 78 Question Id : 7155053759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The major products A and B from the following reactions are:

H
N
WK Br, / AcOH
Bge—— > A
LiAl H, 0

Options :

H H
M N
: -~ jﬂr’ A @/ h"‘x\_,f’j
715505119609. He

M Il
